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FER- WL S FE AZEH | WBEEE | EFFH | #5FH | £FFEH
SH4E 279 &| 1076 &| 1,101 £ - £ - £
SHI3E 269 & | 1076 &| 1,110 £ 253 % 14 %
SN2 276 & | 1023 &| 1112 £ 245 % 22 £
=T Ep
SHTE 285 % 970 & | 1,102 & 226 % 17 4
R 304E 282 % 917 & | 1,056 % 199 £ 26 %
294 288 £ 864 % 1,055 £ 229 % 27 %
Si45E 344 & | 1296 & | 1304 £ - £ - £
SHI3E 326 & | 1296 & | 1306 % 308 % 4 %
SH25E 332 & 1237 &| 1281 £ 271 4 2 £
FTHAUILEE
SHTE 340 & | 1,178 & | 1281 % 293 % 0 %
M RY 304E 328 & 1,119 & | 1259 £ 274 % 2 £
ER294F 314 & | 1,060 % 1,268 % 282 £ 6 4
SH4E 21 % 91 % 46 % - £ - £
SH3E 25 £ 91 % 50 % 22 % 0 £
S2% 21 4 91 4 49 £ 26 4 1 4
=M IEHER —
SHTE 31 & 91 £ 60 % 24 % 0 %
R 304 26 £ 91 % 54 £ 21 4 1 4%
295 24 % 91 £ 61 % 32 4 1 4
BEZFDIKR
FER-TAREE |Be-rEEn| PEER | BEEY (e AFEH| BFEAEH [BARERESR
E=Xg=ati 34 & 121 % 25 & 3 % 5 & 0 %
THAOILEE 30 & 91 % 11 £ 0 % 13 4 0 £
=T TEHER 2 % 95 % 2 £ 5 & 6 % 0 %
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	学生の状況

